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TfoTd / Mathematics

qHg ;- 1 Hel quTieh - 50

Tavaess Taaor

39 Y¥-He SW e § HA 30 WA B YT Ho | W 20 9% wefomedld WA & Yow
9 & fog 1 i fuifE 21 el % S & fou < ok 753 e weh 9 T ud fawe
feram 21 393 feramn o1 fawey w fam oo afsfa 2

99T Ho 21 ¥ 30 T oY ITNG WA © ST S Hafud yvH @ A &3 ™ e ¥ sifed

F B IW T & forw Fuifd 9w w1 oam W@ 9 vSE g # fa 3 i B S

W FH & fou gfas & ofd ¥ ffde wm &1 & swaw =3 @) a8l @ w9 S5 afsa )

l.

72 qEII 1 a5 9 FREIm B UH fRa gsasl w1 959 6 fhemm g ]
(A) 48 (B) 46 (C) 44 (D) 42

The weight of 72 books is 9 kg. How many such books have weight 6 kg?

(A) 48 (B) 46 (C) 44 (D) 42
Th HR 3 0 H 165 et 3t T AT 81 9 fhadt T H 440 et # g8 @ weh? |
(A) 4 w3 (B) 6 a1 (C) 8 a1 (D) 10 s

A car travels 165 km in 3 hours. How long will it take to travel 440 km?

(A) 4 hours (B) 6 hours (C) 8hours ~ (D) 10 hours

aﬁ"a;l:ia‘r a;l?ﬂtrﬁmtdqall 1

(A) 29 (B) 21 (c) V24 (D) o™ § #I§ T&
i a-1 = 5 then find the value of 21

d a
(A) 29 (B) 21 © 24 (D)  None of these
I S IR |
(AN &L (B) 1 Co) T | (D) 4

8 4 8 8
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5.

What is the value of [, 1 My AW Lo d ?
[“?“F4N“5N“6H“?NFS]

@Ay 1 ® 1 © 2 (D) .%

3 “ 8

afe x=-2, 7 —x—2 T HH F 27

(A) O (B) 2 (C) 4 (D) 3™ ¥ i3 I

I[f x=-2, then what 18 tl}-:-: value of x—27

(A) O B) 2 (C) 4 (D)  None of these

6. wmﬁmwmﬁmﬁwwwmm%‘?

(A) 374 (B) I (C) T©&F (D) @
How many straight lines may be drawn from one point to any other point?

(A) Infinite (B) Zero (C) One (D) Two

7. %Tﬁﬁmﬁiﬂ93%tuﬁﬁw+59%ﬁa;ﬂu%—

(A) 34 (B) -34 (C) 152 (D) -152
The sum of two integers is 93. If one integer is -59, the other one is—

(A) 34 (B) -34 (C) 152 (D) -—152
uﬁmﬁ@ﬁﬂaaﬁqmwﬁmﬁﬁﬁﬁ%lmqﬁmwm?
(A) 12 | (B) 15 HHIA

(C) 18 HHRR (D) T § ®E T

If one side of an equilateral traingle is 6cm long. Then what will be 1ts perimeter?

(A) 12cm (B) 15¢m

(C) 18cm (D) None of these

Page # 2
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10.

Il

12,

13.

0.25 T -

(A) 025 9 921 © (B)
(C) 025 % =N & (D)
The square of 0.25 is—

(A) Greater than 0.25 (B)
(C) equalto0.25 (D)
5 W 20% TTH -

(A) 1 (B) 5

20% of 5 1s equal to —

(A) 1 (B) 5

2 x -2 X2 9N B

(A) 8 (B) -8
2x-2x21s equal to-

(A) & (B) -8

af% 22 =4, x 1 WH B-

(A) 2 (B) 4

If 2* =4, then the value of x is—

(A) 2 (B) 4
3521 § 3 &1 TG OE B-
(A) 3000 (B) 3

Place value of 3 in 3521 15—

(A) 3000 (B) 3

0.25 9 BT &
T 9 HE A8l

less than 0.25

None of these

(C) 10
© 10
(C) 6
) 6
(C) 8
(C) 8
(C) 1000
(C) 1000

(D)

(D)

(D)

(D)

(D)

(D)

(D)

(D)

T G HiE T

None of these

9 9 w1 AL

None of these

9 | g TE

None of these

79 9 HIE @l

None of these
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14,

15.

16.

17.

1 8.

6 99 frad T9d & FUE B2

(A) 0.60 (B) 0.06 (C) 0.006 (D)
How many rupees is equal to 6 paisa?
(A) 0.60 (B) 0.06 (C) 0.006 (D)
| foeizer sy 2-
(A) 1000 feemma  (B) 100 fFemm (C) 50 feeumm (D)
One quintal 1s equal to—
(A) 1000 kg (B) 100 kg (C) 50 kg (D)
1—56" %1 TYHed HH B-
(A) 3.125 (B) 0.03125 (C) 03125 (D)
The decimal value of ...5_.. 15—
(A) 3.125 (B) 0.03125 (C) 0.3125 (D)
0.05 < 1.05 U= & -

A 0
WS TR T08
(C) 2 (D) ¥ ¥ FE &

105
0.05 + 1.05 1s equal to —

S 50
A = B A"
A 13 B 703
(C) 5 (D)  None of these

105
4 31T H Fra demd €7
(A) 9000 (B) 8999 (C) 9999 (D)
How many 4 digit numbers are?
(A) 9000 (B) 8999 (C) 9999 (D)

Page # 4
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None of ILESE

31.32

31.32

6304

6304



19.

20.

2].

22

3.003 T 2.05 T 3R &-
(A) 0.995 (B) 0.953

The difference between 0.995 and 2.05 1s—
(A)  0.995 (B) 0.953

x T4 y YIS QUi 21 AR x> p B -
(A)» =x>=y (B) —x<-y

x and y are positive integers. if x > y, then—

(8) —x>—y (B) -x<-y

4,5 991 7 HT THAH FHYAE F1d
Find the LCM of 4, 5, and 7.

& ¢ 20— [3x— {20 — 2x — 5)}]
Simplify : 2x — [3x— {2x — 2x — 5)}]

(C)

(©)

(€)

(€)

0.992

0.992

_-I'}y

—x}y

(D)

(D)

(D)

(D)

0.999

0.999

X<y

Xy
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T 305 & A B B w SR i ow oA W@ w3
iangle are in the ratio 3:1:5, then find the smallest angle of the triangle.

I'? -
| -
| ' = o B R
3 B F
. 11
- I i
=
i
I
5 L
1
-
'l'.l_l a




@ v A # R Y 2 o A O T w
Find the cost of 2 dozen pencils at the rate of Rs. 1.50 per pencil.

27..

/ AGRAWAL

MiCART BLOGS
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29. i Hemsil w1 | 7 71 A wu™ ] @ 2 3R 6 § A ded wem 9| 512 3

The average of three numbers is 7. Iftheﬁmtthmmbersmzaﬂﬂﬁ then find the third
number.

1 \ I_l



’ AGRAWAL
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[ @ 9w faem |
| GENERAL KNOWLEDGE AND SCIENCE |

g ;- 1 92T quTieh :- 50

PR E MR CEl
T YYA-9E-SAg T | el 50 (20 + 20 + 10) WA € W HEW: O el § faafea 7 -

@E - 1 :- 39 @ H -1 § EA 99 ¥ |o 10 Tgfawedl wE &Y e 3 veEs wE &
fore | o favifa 81 wvdl & SR # fau 9 @ik R U wen am | w1 fosmes fee
2, 3 foramn sremn fosen W fesae & afsia 2

W - 2 F W AW 10 S / s v iy e o I sErm
ye & A fow Ty T s FE @) WoOE weE & fae 1 s Fuifa 2

GT -2 :-TWESH 9N - | H I o € w9 10 sgfasedt WA fRe T R veEs
v & fou | g i €1 U9 & S & fo1u gRi SR fEu U Ere e H Hel [9eeg
foma 2, ar=ra fora Stuer faey X femme s 3l 2l

q7 - 2 W 9 faEe | we 10 FEe / sfdeesaid wee fRe e @ e swoaEe
gvq & A9 fTu U wom ¥ sifed @ 2 I S % fou fruife 9 o oseae v 9=
T YA & fog 1 3w FRuifa #

WE - 3 :- I @3 ¥ WHYHEEH! ¥ e &9 W9 f{T T ¥ e sgfawedd a9 9
SAfaerEtiE) ToE wv & fau | oF fuife 2 sgfoscds o & 3w & fou =6 &R
feu Mo @rel afFe ¥ wE fawey famm € U AfderEaiE el % SW % fau gEtd g9
% 99 fau o i § sifed @ 71 = faa e famey w fowme o afsia 2

EUHE 37 1 WEYE e 2
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This question cum answer sheet contains 50 (20+20+10) questions divided in three groups.

Group 1 :—The first part of this group has 10 multiple choice questions of 1 mark each. The
correct answer is to be written in the boxes given in the right margin. No credit will be given
for writing elsewhere.

The second part of this group contains 10 objective / short answer type questions of one
mark each. The answers of these questions are to be written in the space provided below
for them.

Group 2 - The first part of this group contains 10 multiple choice questions of one mark
each. Answers of these questions are to be written in the boxes given in the right margin.

The second part of this group contains 10 objective/short answer type questions each of
one mark.

The answer of each question is required to be written in the space provided below. The
answer should be very short and concise (in one word or in a single sentence only).

Group 3 :- This group contains 5 multiple choice and 5 very short answer type questions
mostly related to current affairs. For multiple choice questions, correct answer should be
written in the box given in the right margin. For every short answer type question, the
answer of each question is required to be written in the space provided below. Writing
elsewhere is prohibited.

There is no provision for negative marking.

Page # 12
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1. defEw %1 sfan T HwE e
(A) 9g&sd (B) &AM (C) ==«
Who was the last king of Mauraya Dynasty?

(A) Brihadratha

2. forw 291§ qEeWEl &1 GE Haites 72

3. |
(A) 226 @4 ém 326 ’ﬁﬁr (C) 526 A
In which year did Alexander invade in India?
(A) 226BC. /| (B) 326BC. (C) _-52@.-"5.(_:-.-;
4. EF IARA § HH 39 T S 82 |
(A) wifgga gfmaa (B)  #m&r
(C) @gw T smf (D) <o sifteent
Which country is the leading producer of Gold?
(A) Soviet Union (B)  Canada
(C) USA (D)  South Africa
5. fTefafad § ®E-91 TF AE H1 THHE 87
(A) ferem (B) wifew (C) T

(A) SeHmE (B) drTemesT (C) e
Which country has the highest population of muslims?
(A) Indonesia (B) Bangladesh (C)  Pakistan

I
A N
L IR

Which one of the following is the Capital of Nagaland?
(A) Shillong (B) Kohima (C)  Gangtok

(D)

(B) Ajatasatru  (C)  Chandragupta (D)

(D)

(D)

(D)

FE

Ashoka

|G

3




6. Frefafea § =A-H @ T Il w1 T HI B7
(A) et (B) HE&HERIH (C) HfFYE! (D)

Which of the following is the famous Classical dance of Kerala State?

(A) Kathhakali (B) Bharatnatyam (C) Kuchipudi (D)
7. Efafad § FH-w g w1 P T €7

(A) 9= (B) H (c) wEEflm (D)

Which one of the following is the closest planet of the Sun?

(A) The Earth (B) Venus (C)  Jupiter (D)
g aferg @ HERHAl w2

(A) Al (B) &I g=dead

(C) sam 95 (D) wferen

Who is the chief minister of Tamil Nadu?
(A) Jaylalita (B)  O.Pannerselvam
(C)  Chandrababu Naidu (D)  Sashikala
9. WRd I sl T Tor § -
(A) Tafen & 99 (B)  STEIf @l §&al

(C) =M i Fd (D) B sl
The First Ancient civilization of India 1s —
(A) Sumerian Civilization (B) Asirian Civilization
(C) Chinese Civilization (D) Harappa Civilization
10. ﬁwﬁ’@ﬁﬁﬁﬁﬁ‘wmﬁﬁw'mwé?
(A) 3TEHIER (B) 9% (C) AR (D)
Which of the following i1s known as "Manchester of Japan"?

(A) Ahmedabad (B) Mumbai (C)  Osaka (D)

Page # 14
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HIT-2

—_——

1. SREE % TA9Te % 87
Who is the Governor of Jharkhand?

I ARNS.

12. 9RA ¥ =9 A & g@ fha @2
How many High Courts are there in India?

IAUVANS.

13. WREE 99 & w4 ier fRar e
On which date constitution of India was adopted?

ITUVANS.

14, Tog g &1 sader ity e fuita w82
Which Meridian has been determined as the International Date Line?

SAUVAns.

15. @ 1 a9 He FiEEHR S o917

Who was the most famous writer of Gupta period?

STV ANS.

16. 2fag #v forg @9 O @1 ©?

By which game is Davis Cup associated?

IUVANS.

Page # 15
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” ' thh city of India is known as Pittsburgh of Indxa“?




Te-2

-1
L. & fifea afes ol § 9 fraet w9 ]
(A) @mFm (B) #gfa (C) omR=e (D) foeems
Hertz is the unit of which of the following physical quantities?
(A) amplitude (B) frequency (C) time period (D)  displacement
2. T % 79 Y o % faw ey fiet § wn aui
(A) et (B) @ (C) =g (D) =i
What would you plant in soil to grow a new plant of Rose?
(A) Bud (B) Stem (C) Tuber (D)  Leaves
3. ﬁwﬁ@aﬁquwmm—ﬁmﬁwwﬁwmﬁ?
(A) el o feme a9 (B) @S =1 Ture
(C) f&1 wE % &1 feerm (D) & | |t
Which of the following traits is most likely inherited in the children from their parents?
(A) Dimples in cheeks (B) | Voice quality
(C)  Moving ears without holding them (D) All of these
4. WM T AN faEE #1 gEEE B 27
(A) (B) e (C) e (D) e
Which non metal is a good conductor of electricity?
(A) Copper (B)  Graphite (C) Sulphur (D)  Granite
5. UM Y[ A9 1 HE BT & o

(A) -173°C (B) -273°C (C) 173°C (D) 273°C
The value of absolute zero temperature is approximately

(A) -173°C (B) -273°C (C) 173°C (D) 24 3°C
Page # 17




6. T mu frefafEs sl o w9 urg TegHiEe & THE 59 8?2
(A) THRE (B) wiage (C) e (D) =i

Out of the given ores which one 1s an important ore of metal aluminium?

(A) Hacmatite (B) Bauxite (C) Galena (D) All
7. URY YT WUE T T T H eovrvvvrrorerennens T 9 F:39 2
(A) =FANFA (B) drarae (C) 9= (D) Tz

Plants receive their nutrients mainly from ....................

(A) Chlorophyll  (B) Atmosphere (C)  Light (D)  Soil
8. @mEAl & SR H ™ U 1 IUAN B € q® ® -

(A) ¥HTa TYU (B) 3@ g4ur  (C) 3Fqw g901 (D) 399 ¥ H1E e

The mirror used in headlight of vehicles is —

(A) Plane mirror  (B) Convexmirror (C)  concave mirror (D)  none of these

9. M % fau wF IHEEh 272
(A) ®d (B) <= (C) dmM (D) =R 99

Which is responsible for rusting?

(A) Air (B)  Water (C)  Heat (D)  Moist Air

10. 9HT 9 T9" TaqT 7 e SIS 795G B AN B HHAT 8 UL TP oo, T T
TET BT, coviiirssiensss. H SH & 9
(A) 7941, 916 (B) Amm, arg Afersh

(C) =g Aferer1, 9 Aferen (D) 9 Afctent, a9

While taking water, Reeta's throat got choked. The water might have entered her .................

instead of entering ............co.......
(A) pharynx, nose (B) nose, wind pipe

(C) wind pipe, food pipe (D)  wind pipe, pharynx
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HIT-2

—— —

I1.

12.

13.

14.

15.

16.

MCRB =1 fawafm &9 fad|
Write the full form of MCB.
3¢ (Answer) :-

TR TReE W e sfesdl et 87
How many bones are found in our backbone?

3L (Answer) :-

G5 & A G IEF el sud’ Fedd Bl
Which component of food is known as 'ENERGY FUEL'?
Il (Answer) :-

39 99 & AT AW o S gt § sTEn e s g?

Write the Latin name of the element used in Thermometer?

I (Answer) :-

fopa ST | 39 % SUE B 82
How many centimeter is equal to 1 inch?

34ql (Answer) :-

et g % YgE HEs 1™ H AW fae?
Name the important constituent gas of 'Gobar Gas™

I (Answer) :-

Page # 12



7. em w3 fre T F @S H A

Which element was discovered by Madam Curie?

39¢ (Answer) :-

1. T SO AR S R Y 1 Bl €2

Heating element of electrical applicances is made of which material?

Il (Answer) :-

19. Wﬁ}m@m#'mmﬁlﬁﬂim T ferd?

Write the name of the compound responsible for the temporary hardness of water?

I (Answer) i-

~o, Frg wfe w5 HH | e g 2

Deficiency of which mineral causes anaemia?

3¢ (Answer) :-

Page # 20
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fpdfiae T fg ere & 9er & faq S i g7
(A) dia 3TF (B) dilg 39k

(C) ugHt=4 1 13 (D) 94

Kiriburu place is known for which ore deposit?

(A) Copper ore (B)  Ironore

(C) Aluminium ore (D) Mica

qEvE T4 ® YUY AT i 42
(A) 99 HAR (B) forg @i (C) ¥ fa=t @t (D)
Who was the first Governor of Jharkhand state?

(A) Prabhat Kumar (B) Shibu Soren (C)  SyedSibteyRazi (D)

foerg Toge™ 2016 FEl SRfNE g3 417

(A) ¥ (B) =1 (C) &9 (D)
Where was BRICS Summit 2016 held?

(A) India (B) China ) ‘Russis (D)
wefafem ekt &1 wREr FREvs | w8 smited ¢?

(A) T (B) SH¥RY (C) ¥R (D)

Where is the Aluminium extraction factory situated in Jharkhand?

(A) Mur (B) Jamshedpur (C) Dhanbad (D)
ot o frg @a § gafug 22

(A) wefHe (B) ®®l (C) foe (D)
Nikki PradHan is related with which sport?

(A) Badminton (B) Hockey (C)  Cricket (D)

Ramnath Kovind

Brazil

Bokaro

GIEE]

Archery
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6. FREUE T[T FHd A7
f ir When was Jharkhand state made?
{ 3T (Answer) :-

Who is the speaker of Jharkhand Legislative Assembly?
ST (Answer) :-

8. T-20 fFae &1 ainm fava e &7 22
Which country is the present champion of T-20 cricket?
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